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6.2 Quadratic Models

Warmup: Write the equation of each line using the given information.

@ a. Line with slope of 2 through the point (-3, -7) b. Line with y-intercept of (0,4) through the
AR Sl point (5, 3)
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The equations you wrote above are linear models. Today we will be focusing on quadratic models. For each
form, identify what information is given by each feature in the equation.

Standard Form Intercept Form Vertex Form
y=ax*+bx+c y=a(x-p)x—q) =a(x—h)2+k
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Q‘uowing this, try the following problems:

1) Write an equation that models the given information.
a. A quadratic with x-intercepts at (2,0) and (-2,0) b. A quadratic with x-intercepts at (-2,0) and (4,0)

that goes through the point (0,4) that passes through the point (2,4)
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c. A quadratic with a vertex of (1,6) that passes d. A quadratic with vertex (-4, -8) that passes
through the point (2,4) through the point (-2, -5)
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Write yourself a list of steps to describe the process that you did on the previous page. \

Writing Quadratic Models
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Application Problems
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the air, write the equation the represents the path of the ball
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2) Mae hit a softball so that it’s{faximumjheight was 60 ft at 3 seconds after she hit it. If she hit the ba. )
3.5 feet above the ground, what is the path of the ball in terms of seconds?
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Time (s) -56.5 = -4 A=-6.23
3) Alex is kicking a field goal. If the ball landed 22 yards away, what is the equation for the path of the
ball in terms of seconds if the maximum height the ball reaches is 15 yards?
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